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SOCIOLOGY HSSC-II
SECTION — A (Marks 20)

Time allowed: 25 Minutes

NOTE:- Section-A is compulsory . All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(1)

(xewiii)

{xix)

(xx)

Which of the following is NOT a cause of increase in Population?

Slow industrial development
Control on infant mortality

Austricks D Greeks
Mumbai D Sind
Muslims D Kushens
Lingual D. Racial
Saijji D Nihari

Lack in cultural integration
Social progress

Social pressure
Social deviancy

Social progress
Social change

Economic institution

Social institution

Interview

Solution to the social problems

ensus of 1998 AD?

50%

None of these

Hypothesis D Variables
Deviancy D. Crime

1970 AD D 1969 AD
Houses D None of these

Selection of the problem
None of these

Inflation
Over population

A Desire for a male child B

C. Migration D.
Who started the use of boats in Indo-Pak?

A. Dravidians B. Aryans C.
Which of the following is called Bab-ul-Islam?

A, Gwadar B. Balochistan C.
Who introduced Coin making in the Indus valley?

A Greeks B. Aryans C.
Pakistan is a/an state.

A ldeclogical B. Geographical C.
Which is the favourite food of Balochs?

A, Daal chawal B. Chicken pulac C.
Weakness of central institutions causes

A Cultural integration B.

C. Cultural uniformity D.
Individual's adjustment to the saciety is called

A Social Norms B.

Cc Socialization D.
Change in social structure and social relation is called
A. Social disorganization B.

C. Revolution D.
The 18" amendment in the constitution is a change in
A Paolitical institution B.

C. Parliament D.
What is Applied Research?

A Report writing B.

C. Research guide D.
What was the literacy rate of Pakistan according to the ¢
A 45% B.

c 55% D.
Finding facts is known as

A Research B. Theory C.
Violation of law is called

A Delinquency B, Wandering C.
Which year did the debacle of East Pakistan happen?
A. 1972 AD B, 1971 AD C.
Upon what does the sustainability of life depend?

A Shops B. Animals o
Which is the first step of research?

A Theoretical discussion B.

C. Sampling D,
Increase in traffic causes

A. Industrial development B.
C. Pollution D.
Increase in population is a/an change.

A. Sacial B. Cultural C.
Disobedience of parents is a/an deviancy.
A Primary B. Group C.
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SOCIOLOGY HSSC-II j

. P
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Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE:- Answer any fifteen parts from Section ‘B(a)’, one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION — B (Marks 50)

@2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 4 lines. (15 x 3 = 45)
(1) Define |deology
(i) Define Sacial Control.
(iii) Write down any three impacts of the British culture on the culture of the Subcontinent.
(iv) Define Culture.
(v) Define National Character.
(vi) Write down any three main causes of llliteracy.
(vii)  Write down any three differences among the subcultures of Pakistan.
(viil)  Write down any three problems caused by the population increase.
(ix) Briefly write the impact of Austricks on the Indo-Pak culture
(x) Write down any three steps to improve National Character.
(xi)  Whatis meant by Social problem?
(xiiy  Define Community.
(xiiiy  Give three examples of Individual deviancy
(xiv)  What is meant by White collar crime?
(xv)  Write down any three common characteristics of Punjabi and Sindhi cultures.
(xvi)  Suggest any three steps to control crime in Pakistan.
(xvii)  Write down any three impacts of Dravidians on the Pakistani culture.
(xviiil) Write down the Islamic values which help to attain social control.
(xix)  Write down the hurdles in social change in Pakistan.
(xx)  Write down any three changes occurring in educational institution.
(xxi) - Define Cultural Integration.
b. Attempt any ONE part. (1x5=15)
(1) What is the importance of Information technology in Social Research?
(i) What changes have occurred after the arrival of Arabs in the Subcontinent? Write briefly.
SECTION — C (Marks 30)
Note:- Attempt any THREE questions. All questions carry equal marks. (3 x10=230)

Q.3  Describe the sources of Socialization.

Q.4  Wirite in detail the problems of the Rural community and their solution.

Q.5 Debacle of East Pakistan was caused due to the lack of National integration. Being a student of sociology,
what steps would do you suggest to strengthen National integration. Write in detail.

Q.6  Write in detail the impact of physical environment on social life.
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